EAGRAROBREERT — 2 N— ABISH —F

20195 7R6H (£) 2[ESE3H

mﬁi%Sﬁi 1772 4% [IBE] E2 B R
[x&<£] 1 % :7,500,000 @ ~ 23 :3,000,000 ™ 3 3#:1,900,000 § ~ 4 3#&:1,100,000 § 5 #& :750,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= s FlaEX 146. ~5-4- . . amEZ (ER)
, 6l ho—75 s i3 5_0 1(4_6)6 5-5-4-4 |38.2| 93.5 | 2 (4_566) i
R:TZ7v 784K B:7—XT714%— Ja—Y—T77—LA
S . 3 | FR—Ht 1:46.7 14-14-8-7 |37.9| 92.6 | 3 490 | BT (EKH)
5 7| NFa1—-x [B] & X510 (1/2) ) "W Bty
RNZ—ka1—2X B:F—>v>TU—+ FE%E
o o AEEE : ~6-7- BEHL (EH)
3 10| 7ATLEYHES it 3 o 1(74?:)7 5-6-7-5 |38.0| 92.6 | 6 51_560) iy
:a—-KH+ra7 B:7AT7LHhI/~d =Sl
—— 3 3 | BEXLT 1:47.1 2-2-1-2 | 39.3| 89.3 | 1 484 | RTTERE (Fid)
41814 T7NVT7—22 e A49.0 2 1/2) () | ) /—ZErX
R:d—IWR7Y2—Ib B:SvILE220L #REH /—ZELX
o2 4 5 | WHEHE 1:47.5 15-15-14-11{ 38.2 | 85.6 | 8 478 | AEEE (EH)
55|09 NAY v A52.0 (2 1/2) (-16) :IEFEIE)\
LA Lh—L B:NL—F2D2T =i -
S N B :48. —~7-10- . . SAEE (Eil)
612l1o| %77 02> i 3 ;49_0 1(431'3)0 8-7-10-11 | 39.0| 81.5 | 13 (4_652) EEE{‘{:?
R:Zw— k770> BILFRAMLAY HeRZX &y K
— N AEEH : —3-4- HehigrE (E#)
718115 TIVIHhHY v—Y feoa A52.0 1(74?:; AR R ° :?3) RIBEE
AT/ RSAY BiAxHOC R HET7—L
3 4 4 | ERA— 1:48.1 7-7-10-9 | 39.1| 80.7 | 11 | 454 | AREEL (X#H)
8 3|Ia€v b 55.0 ) we) |2 EPS
L:N— K2 BHYrF—31-X H—L— - JvX> - T7—LARS
==1]2 4 3 | ENEAH 1:48.1 1-1-2-1 | 40.3 | 81.5 | 7 514 | =iEHER (EH)
ol 2| Z7TVIIR 52.0 7E) ) ) ForL—ry
R:grp—3)F7r B:7rvOYv-— J—=HrTp—L
= i 6 | RLRKA 1:48.2 11-102-3 | 40.4 | 80.8 | 10 | 492 |/IEPRER (i)
101713 ®L—XXZ 7L 55.0 (7E) (-12) | BIEEE
LIV INATA—h— BVFMNFT 54 TERBHIS
= s 4 4 | SREXH 1:48.4 8-10-12-11 | 39.2 | 78.3 | 9 452 | 1EEEERS (EH)
11l 5 Z72—=4541) [B] 5’3.0 (1) (-2) (B) EvILy RT7r7—L
L:2%— K770 B AYOL—7— R S
o [ L e N: : -3-8- NG fmak ()
12Y 4| ®/¥U 2=k B4 R (11.438/.47) 3-3-8-9 [39.9| 76.4 | 15 ;1:322) /E\_F%n%
x4 vavh—-5— B:LUy7L—X HBITr—L4
: 2 4 4 | EEEE 1:48.9 11-10-15-11] 39.3 | 74.1 | 14 | 460 |=>AE (EiH)
1311 FF7U% 8.0 (1 1/2) ) |LEE-
L:7U*—v B:RKFEY21— EEitae
14l5lgl 7o/ vvas 4 %_E?)RE—EB 1:(4:)).6 11-13-12-15| 40.4 | 69.6 | 12 g;) g;gi (=)
LIRKT—INYF— FB:yL—%2—XO—K HEANTT— I
5 B4 | KEHESR 1:49.7 8-7-6-8 | 41.2| 69.8 | 4 462 | DNEETESA (538)
15411 77~ U (Bl 55.0 (172) © | B XvavrIr—a
L=F—=29 7 BiARRT—=I (B) #Aa—-RKL—va>aErr
@ 21 L
£ 50.6-38.8
NAZA L | 7.1-11.1-12.1-12.6-13.1-11.8-12.2-13.2-13 .4
® I—F—@EBIERL
13=7r= (x2,14)-(4,15)-(6,10)3(5,12,11) (1,8,13)7,9
2a=5F= 2,14-(4,15)6,10(3,12,11) (1,5,13)8-7,9
Ja=77= (2,%¥14,13)-(6,15)11,10(4,7) (3,12) (5,8)9,1
43—+ — (x2,14)13,6(10,15)7,11(4,3) (1,5,12,9)8
[ /N
B 6 380H 714K 6-7 360 e E 4-4 1,030M EE 6-7-10 2,630
# B 6 140H 6-10 600 B = 6-7 1,050 3EE 6-7-10 10,680H
7 1509 7-10 880M B H 6-7 1,900
10 270M

ABRICOVTHRTEEERROODE, THEB LS,




